Compound interest
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The ratio of the difference between
compound interest and simple interest
for 3 years to the difference between
compound interest and simple interest
for 2 vyears is 23 7. Flnd the rate

percentperannum 03
frdt Tufr W 3 mr»r & fav

UHgeld U d WIUROT A F
R aur 2 A & faT Iwgefe
ST d WURY AT & 3d% T
Ieqard 23:7 @] surer A af¥e oI
En?ram

a)14% b)16§%

w{zs‘;% d) 15%
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The ratio of difference between C.I.
and S.l. in 2 years and 3 years is
9:29. Find the rate of interest
compounded annually.

IH9e oA AR WIUROT
s % drg 2 adf sk 3 ot
F AT FT AHTAT 9:29 @ @
CETLCAL s 1 aiE ax
ma‘hﬁm’»

af22.22% b) 18.18%

¢) 27.27% d)11.11%
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A sum of money is accumulating at compound
interest at a certain rate of interest. If simple
interest instead of compound were reckoned,
the interest for the first two years would be
diminished by Rs.70 and that for the first
three years by Rs.213. 5. Find the sum.

TF TR o fAfRed saer ¥ W awag
ST W SAT & W@ 3] IR aaﬁaﬁr ¥
FoITT HIYROT sqTsT T AT i AT, o
Ted Q) aff F RAT suer F 70 T 3k
ggol i aof & T 213.5 TF & A
g1 Sreer| i AT FifSw)

a) Rs.21000 \ bf Rs.28000

c) Rs.24500 d) Rs.35000
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The ratio of the compound interest earned
over 2 years when compounding a principle
annually to the simple interest earned on the
same principle at the same rate for the same
duration is 25:24. Find the ratio of the
compound interest earned over 3 years when
compounding the same principle annually to
the simple interest earned for the same
principle at the same rate for 3 years?

2 ¥ & yEfer 7 nfsia aFaeyr sarer St
aiffs FafeT § 3R TAE &X 9 GHE IE
A AT AUROT SATST FT AT 25:24 B
3 AoUT W WA & @ 3 9% A 3niid
THIE ST R WIUROT SATST HT AT A
ffSw?

a) 625:576 b) 79: 72

c)301:288 469:432
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W Rs. 1,60,000

On a certain amount, the difference
between the simple interest and the
compound interest received in the second
year is Rs. 3600. While for the third year
this difference is Rs. 7740 . Find the
principal if the compound interest is

compounded annually. )
s fARad gaufa «w a¥ & gred
sqTol ol A

ATYROT sAqTsT 3R
3600 TIT ¢ | Jafy MWy a¥ & faw
g A 7740 F9A § | HAUST AT
IfE Twhadt sgTer aTi¥e WA @ |
b) Rs.1, 20,000

¢)Rs.1,80,000 d) none
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Difference between simple interest and
compound interest for second year is
Rs.12. and simple interest for first year
is Rs. 80. Find the compound interest of
third year if rate_ of interest ratio for
— 0/ 15/ 20/
threeyearsis 2 : 3 : 4 respectively.
g W & favw wemor s Ak
IHIEY ATl & diT FHaR 12 T
% 3k vear o ¥ AT WURYT sAw
80 ¥ 3 Y a¥ & uFgeY
SATST T 9T o9y e e Tt &
SOTST &Y FAA: 2:3: 4]
202.40 b) 205.40
c)201.20 d) 203.80
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At what rate percent compound interest
p.a. difference between three years
compound interest and three years simple
interest is Rs.80 on sum 625.

THIE SO A FE affe @ @
625 FI TT et st & et SISl
3T WIUROT sgTeT $T 3a¥ 80 9T &
2) 10~ GY20%=L ) 12.5%d) 25%
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At what rate percent compound interest p.a.
difference between three years compound
interest and three years simple interest is
Rs.1500 on sum 30720.

THge™ Sgrer d fFW afds T § @
30720mweﬁ?raq‘?$aaﬁaﬁrm
3T WIYROT 41T $T 3a¥ 1500 39
a) 10% b) 20% 12.5% d)15%
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At what rate percent compound

P l' lo I, interest p.a. difference between three
3 2 e | years compound interest and three
g5 ) 3 . . .
years simple interest is Rs.1360 on sum
17 2500.
Sk THIER AT F BFE aIE o @
Dy 2x4) _ 455D 1360 39 W Al ast & aHgEE
- 2 SIS 3R WYUROT S4S FT 3HeR
P x |7_E g, 2500 T |
g a) 10% b) 20%
c)28.56%  \df40%
-% — Uy,




What is the rate if the ratio of 1 year Sl and
3 yearClis 1: 3. 64.
1 | $T ATYROT SIS 3T 3 ATl &l
ghael sarsr T 31?|tn?r 1:3.64 g ar
sarer & &v F4r gt

g0
SIS: 3gD @ a) 12. 5%:/ \,b{ZO%

c) 25% d) Can’t say
|
SIy = |§:B-6 P‘s l"z_ ) 2,
D Y X x \
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: 2 If C.I. of a certain sum at the end of 2
1 > 15%x6 years and 3 years are Rs.234 and

CIZ 1(7*"7) =5t Rs.381 respectively. Find the rate of
(R .H,f-?- interest?
Um J Yo Pl AfRgT ey W @ A

I e W A AFaeY A>T
FHU: 234 AT 381 & sarer H
T &I S|

a) 14.28% b) 18.33%
6.67% d) 12.5%




5 6 230 55 On a certain sum of money, compound interest

5 - .
cI %(7(""‘.9 l22 o < earned at the end of two years is Rs. 1320 .
—Z= ———)-‘— —_ WA Compound interest at the end of three y@ars is

d = 86 1 cearned Rs.2184 . Find the principal. 2
m ] &6 v fAftad oo W & @ & 3id &
236 Iford Thaf sarer 1320%. § Y auf &
3d H awadf sarer 2184%. § @ Heue
2 Re0/  Frg a2
13201 ¢D a)2400 b)1200 c¢)3200 \,d'(SOOO
MY
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If the ratio of compound interest for 3 and 2
CIa years for the same rate and same principal is
/,273: 152 then find the rate %
C1, I WA T AR wAW Houw & faw 3
ik 2 ot ¥ fav IHIEY AT H
[T 273:152 & @ & % AT AT

a)10% b)11.11% c) 22.22%. ¢f37.5%
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